OUT:!1+2:4-6-7-9 IN:10-12-13-15-16-18

AR RBE WS =7 OW

BROE A RAR304E09A 12 R
7°UF° Kb Y -{BAEE

HR{r B & QUT | IN [GROSS| HOCP INE T 5E JBfE I; % OUT | IN |GROSS] HDCP [NE T Al =Y
BRI BY W 44| 41} 85| 14.4] 0.6 b1 | &M Dk 50| 52| 102 | 26.4| 75.8

O -k | 42] 40| 82 | 10.8] 712 52 |4RE 0% - 75 a7| 43] 90 |14 4] w8

s @b foss- g | 44| 47] o |10.2] 7.8 63 | L W=HE-m | 45| 45| 90 | 144|766

4 |gh faE -k 44| 48] 90 18.0] 720 4 |EE MR- & 56| 62| 108 | 32.4] 7.6

5 |®I wm-m 8| 47| o6 | 22.8| 72,2 65 |[AE FHT- k| 43| 41| 83| 73| 78]

6 | &k F 41| 35| 76| 3.6]| 72.4 5 |EE —E 47| 421 89| 13.2{ 75,8

e e a7| 40| 87 | 144|726 57 | dE -tk | 48| 40| 83| 7alwme [T
8 |{rn EE - | 38| 86 132|728 | | 88 |MH Z#n & | 47| 42| 89| 18.2] 75.8

o |me mxm 51| 47| o8] 26.2|72.2 59 |BH S - i 53| 53| 106]30.0] 76,0

0 (N FE-3 45| 48] 02{10.2| 2.8 680 | E -k | 46| 56| 100 | 24.0] 76.0

HO|ER HpEEE 45| 51} 86 22.8| 73.2 81 (¥R HE¥ & 42| 46| 88| 12.0{76.0

12 SR OkEE-wm | 45| 39| sal10.8|va2 62 {BEH,  E 46| 48] 94 | 18.0] 76,0

13 % W - 1 ar| 4| o0 |ws{razl | [ 63 | mE-m | 47| 40| 87 |10.8] 76.2]

14 |l Peto- By | 48| 41| 89 | 16.6] 73.4 64 |3k mE -w | 46| 41| 87| 10.8] 76 2

I [¥H W@ 45| 44| 8o 15,6 73,4 66 | VE - 75 40| 26 86| 9.6] 76,4

6 FEn B G1{ 60| 101 | 27.6f 73,4 66 |FEFE W% -k | 56| 54104 27.6i 7.4

7 |4E st | 47] 54| 101 ) 976 754 67 |/l 58 - 1k 47| 29| s o6l 4| | 1
8 ||n Wedwmeng 38| | 771 3.6 73.4 68 |yl WE - 4k | 62| 52| 1041 27.6] 76.4

19 |E EE - 44] 44 88 )14, 4f 73.5 69 |PEF S - | 43| 43| a8l 9.6} 76.4

PE 5| 4| oa 1204 706 70 |EF8 Bk -{& | 63| 45| 98] 2L 6} 76.4

21 {iym 48 -8 48] 48| 94 20.4| 73.8 TL|48TT PHE B | 51 46| 97 20,4| 76.5

90 |HH mEk.w | 48] 40| s8l1aalmael | | T [ B -w | a9] 48| o7 | o0.4| 8.6]

98 \HE b 30E 4k 45| 431 88114 4| 73.6 3 |EYE — -7 661 41| 907|204 76.6

T |EH E a2 wl s salmel || 74 | 4K fok - H sl 47|103|26.4| 0.8 | |
%5 [k m-m | wl @l e [malmel [T 6 HE ek - 8| 48| 06|02 w8l | | T
2% |2 RE-® 45] 42{ 87| 13.2| 75.8 76 {HH TR 471 48| 96| 19.2| 78,8

o7 |ShE Al - B 45| 42) &7 |13.2| 75.8 Vo [JE JEHf - 4| 62] 50| 102 ] 252|768

‘® 1% B o] s a1 | 7a|wel | 78 |\ M - ) a9] | Le2|7es| | |
20 ()1 BeE-m | 45] 42| 87 | 15.2] 75,8 79 [BH Tk 48} 42| 00| 13.2| 76.8

0 |E G- | 44| & s7|1semmal | | 80 |WE BE. 4 | a7| 421 80| 120|770

81 R P 42| 4| 8 [12.0[ 740 81 |&F wiE-H 42| 41] 83| 8.0 770

w|#% =B E 51| 46| 97|22 8|74 2| 8 [EA& BE 50| 45| 95| 18.0| 77,0

35 |HES -7 | 46| or w6 s[wael {7 8| BE.-E 19| 45| 94| 16.8] 77.2

34 [k T 46| 51| o7 | 22.8| 742 84 |PRE ol .18 | 49| st|to0 | ez8|ene| ||
35 | Wem 0| 62| 102 ] 21,6744 85 b BefE - | 47| 47| 904|188\ 18] | 1T
36 ||\U@ B R 46| 0| 96 )2l 6| 744 8 |ZF 0w 56| 45100 | 22. 8| 77,2

37 |AE EE-E 45| 39| 84! o8| a4 87 |MRBYEF JE 7 | 53| 47)100 | 22.8] 77.2

| 4@ EE- & 48| 48} 96 | 216|744 88 |=4F HE—RR - 4k | 48| 46| 94 | 16.8] 77.2

T PR R R 47| 48| 95 | 20.4| 74.6 86 |Ym s B | 49| 5L|10022.8]77.9

a0 |BEEE TE - B 1| 40| 83| s.4[vas o0 TR k3 - 4k | b4| 51|05 a6t | | T
4 B LE & 41| 42| B3| 8.4[ 746 o1 |BEE WEES - 4K 52| 47| soiar.6a| 7.4

&2 |Fa pE—- % 47| 46| 93 | 18.0] 76.0 o |HMe =pe-7s | 60| 4e| eolaLe|mal | [T
3 |y R 1 51| 48| 99 |24 0] 75.0 03 |4k B - 52| 63105 | 27,6 77.4

‘i ER BT B 45| 41| 86| 10,8} 76.2 o4 {Fed JEl -4k | 4v] oo| 99 aL6| 7.4

45 |1 w5 | 4o 44| s6|108[ 762 o6 |SHE AP - 4| 47| 48] 03| 16.6] 77.4

6| EE B 45| 52| 97 | 2L 6| 75.4 o6 |TEHT Rk - & 53| 45] o8| 20,4 776

47 |\ %55 1| 38| 70} 36| 75.4 97 [fRA 5&&-{# 48] 50} 98 ) 20.4 77.6

@ [ BmoE | | 42| & 9.6 754 98 [Jr=EN BHE-# | 62| 40| 92|14l |
9 |#E TStk | 47| 4] 91| 15.6] 7.4 99 |HE -tk ad| 18|02 |1ad|me | [T
50 |¥H ZE - | 61| 61|10z | 26.4| 76.6] 100 |G HETH - 46| 58| 104 | 26.4] 77.6

* ik MESE =R BT




KB KT RBE VRS =T O

BAfE H - Fka04Ec8 B 12H
OUT:1-2:4-87°8 [ N!10:12:13-15:1618 PAREAPR NG MRS S
g i %  |ouT| IN [oruss| mpep [NET|A (Rl 4%E  |HEK % #  |ouT| IN [oRoss| mc (NET{A|R| 4%
101 [T —HL - {F 65| 65| 110 | 32, 4| 77.6 151 |9 AT - BY 47! 54| 101 | 20,4/ 80.6
102 |BYF M - & aa| 48| et sl || Visz |8Rk ER - & | 66| 60| 106 | 25.2] 80,8
103 |48 2% -7 | 53| 50| 103 |25.2| 77.8| 163 | M4 R -R | 44| 50| 94153 80.8
lod |%E .| | 53] 50103 | 26.2| 77.8 T st |Bm Aok - B 56| 56| 112 | 31.2] 80.8
105 |EH BB -4 | 48| 49| 97 | 19.2] 77.8 165 |#AV8 BLBA - & | 57| 60117 | 36.0] 81,0
106 |#2RE TEVKEG - #& | 48| 48| 96 | 18,0} 78,0 166 |ZE] Jo== - 7 46| 48] 03| 12.0] 8.0
107 8% B - | 48| 48] 98 | 18,0} 78.0 167 |HAR 7ok - & 48| 61| 09 | 18.0] 8L 0 -
108 | BEE - 4k a7| 54| 101 ez sfwse| | | 168 |#AFF BEEE - 1K 57| 63110 | z8.8] 81,2
100 |2 %H& -4 | 50| 51| 101 2.8 78.2 189 |#9B FIE - K 49| 49| 98 | 16.8] 81,2
10 |4 ERE -tk | 44| 48] 89 | 10.8} 78.2 160 |48 3471 - 4 52| 46| ¢8| 16.8| 812
ui |#n FE-@® 48} 47| 96| 16.8)78.2 ‘ 181 | HBIRE-® 65| 565|110 | 28.8| 81.2
o |EmE o) | so|t0slsal | | |le |HHE TR a7| 50| o7 melsLg | |
13 | K. f | 49| 51| 100 |2L6]78.4] | 1T 163 |0 wlk A5 | 6162|108 [at6|st s | [
L B o O & B e
115 B BE - k| 51| 49| 100 | 2L6|78.4| | ies | g - 1 s0{ 48| 96 | 144|816
16 (W4 BERE - 75 45( 43| 88| 9.6{78.4 166 |BFO  wE: - BB B5| b2} 107 | 25.2] 81.8
1w |%H Rmo & 42] 46| 88| 9.6]78.4 167 [353F Wk - 1 52| 55107 |25.2]8L8| | |
s g (Bl | er] 4| 95 | 14.4] 18,6 B 168 |EH F— o 4k 61| 66/ 106 ] 2.0l 8z0] | |
19 @ % 57| 54111 | 32.4] 8.6 169 | HERE - 15 64| 62| 106 {20.0{820] | [
120 [fB0 HEE - B 41| 52| 09 20.4] 78,6 B 170 |GH) e B | 65| 56| 111 28.8] 82,2 )
121 [52@ Thig - 15 B2F 47| 991 20.4] 8.6 171 {8 M - FH 48| 51| 99 16.8{82.2
122 4 BEES - | 52| 52]104]25.2{ 8.8 T v ik L - 54| 45| o9 [16.8]e2z| | |
123 |BEEH #i— - k| 48] 50| 98 |10.4] 78.8 173 |28@  WEE - Wk | 52| 62| 114 |a1.2] 828
124 |7 ARBE PR | 48] 47] 921 13.4] 78.8 174 | LE % -7 | 52| 55107 o otemo| |7
126 AR S - @ s3] o) ozl onslvee] |1 176 (B BA— Y 51| 52| 103 | 19.21 83,8
126 1Ach RPN 43| 41| 84} 4.8} 79.2 78 iR FEh P 49| 54103 | 19,21 83,8
2t &% B em 49| 63|10z | 22.8| 70,2 177 B BB -# | 59| e1|120 | ss.0ist0| | 1
128 (3 F BoH - £ 57| 67114 | 34.8| 79.2 T E e -k 62| s2|114 | s0.0jseo| | |
120 |HE R - £ 53| 66|108 | 28.8] 79.21 | | 179 [#E Bk - E 58| 62120 |se.0)8d 0| | |
180 [kl B om 48| 48| 96 | 16.8] 79.2 180 |30t =) - 1k 61| sof120 [s6.0l8a0| | |
131 |#E Bef& | 48| 59| 107|27.6]79.4 181 | Fngh < & 54( 53§ 107 | 22.8] 84,2
0.6 79, 4 T Ve MR AW 50| B1{101 | 16.8] 842
5.6| 79,4] T s [ mE 68| b4{152197.6|844| | |
w4 7es| | | 18 M EE-@ | 60| 511011 26.4] 84,6
14.4] 79,6 185 R sai 62|121 |s6.0lss 0| | | T
26.4] 79.6 186 §kEE Bk - 1 0| 60| 120 | 34,8} 85.2
adlmel | |7 BT (FFL SERS - #E | 66| 64| 120 | 34.8] 85.2
19.2] 79.8 T saf 60| 114 |2s.8|es2] | |
13.2| 7.8 189 | KT A - FS 48| 53| 101 | 15,6/ 86, 4
12.0] 8.0 190 |jE Me— - f& | 46| 61|107 | 21.6| 85,4
18,0{ 80,0 59| 63| 122 [ 36,0/ 860
18.0} 80.0 62] 61|12 | 36.0] 87.0
143 [Py REEL - B | s2| 52104 | 24 0] 80,0 84] 51]115 | 27.6| 87.4|
144 |74k HE— - % | 57| Ba| 116 |34 8] 80,2 - 63| 67120 |39 4| 87,6
145 B EE @ | 58| 56| 114 | 33,6 80. 4 80| 63| 113 | 25.2| 87.8
146 [l s & 48] B1| 96| 15, 6{ 80,4 61| 63| 124 136,60/ 88.0
147 |GERR  FoEE - 4% 53] 49] 102 | 21,6] 80.4| 59| 59118 | 30.0| 88 0
8 [k % 49} 47| 96| 16.6] 80.4 | s7| 8| 125 | 36.0] 59,0
149 [[EF FlL - 4k | 49| 46] 95 | 4.4 80.6 1 50| eo| 119 | s0.0] 800 |
160 [AEE — T | 48] 471 95 | 14.4] 20,6 68| 55| 113 | 24.0| 89,0
: 51| 61| 112 | 21, 6] 90.4
66| a6 132 | 360/ 96,0




